Cahier des charges :

Communication :

9600 bauds, 8 bits de données, pas de parité, 1 bit d'arrêt, pas de contrôle de flux.


¤ Emission (Tx) :
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=> CODE

Statuts
Niveaux
Spécificité

(00) Administration
(00) Proviseur

(01) Proviseur adjoint

(02) Secrétaire

(03) Comptabilité


(01) Professeur



(02) Entretien
(00) Ménage

(01) Maintenance


(03) Elève
(00) Seconde

(01) Première

(02) Terminal

(03) BTS

(04) BEP

(05) Bac Pro
1 ou 2 ou 3 ...

S1 ou S2 ou S3 ...

S1 ou S2 ou ET ...

ATI ...

...

...


¤ Réception (Rx)
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Code bon (ACK(06))

Code non reconnu ( NAK(15h))


¤ Sécurité :

PC->Micro
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